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QUESTION 1

Your client uses an Order Policy Code of 0 (Reorder Point) to calculate suggested order quantities in the Purchase
Order generator (P43011).

Which statement is true about Order Policy Code 0?

A. Suggested Order Quantity = Reorder Point - (Quantity Available + On Order)

B. Suggested Order Quantity = Economic Order Quantity + Multiple Order Quantity ?Quantity Available

C. Suggested Order Quantity = Amount in Value Order Policy field on Manufacturing Data

D. Suggested Order Quantity = Reorder Point + Safety Stock — (Quantity Available - On Order)

E. Suggested Order Quantity = Economic Order Quantity + Reorder Point - (Quantity Available + On Order)

Correct Answer: D

QUESTION 2

Your customer requires the address book application to contain the following features: basic address book information,
map of the physical address, open invoices, and vouchers.

What are the two ways to satisfy your customer\\'s request? (Choose two.)
A. Show the customer how to use the existing Form exists within the Address Book Revisions application.

B. Update the Address Book Revisions form to display invoices, vouchers, and a physical map using Composite
Application Framework (CafeOne).

C. Show the customer how to use the existing Row exists within the Work With Addresses application.
D. Educate the customer on how to use CafeOne to customize the Address Book Revisions application.

Correct Answer: AC

QUESTION 3

Your client manufactures and sells an item. The item is then shipped to their distribution warehouse for sale to
customers. The item is sales taxable when sold to their customer.

How would this item be set up?
A. The item master record must have a value indicating that the item is taxable in the sales taxable field.

B. The Branch/Plant Constant must be set to calculate sales tax and then item branch record must have a value
indicating that the item is taxable in the sales taxable field.
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C. The item branch record must have a value indicating that the item is taxable in the sales taxable field.

D. The item master and item branch record must have a value indicating that the item is taxable in the sales taxable
field.

E. The item master record and item location must have a value indicating that the item is taxable in the sales taxable
field.

Correct Answer: B

Reference: https://docs.oracle.com/cd/E26228_01/doc.93/e21560/enter_branchplant_info.htm#WEAIM188

QUESTION 4

Your client has multiple satellite warehouses around a Branch Plant; however, every shipment comes out of the same
shipment address.

What information should you set for the satellite warehouses to use the same shipment depot on the sales order detail
line?

A. Transportation Constants for all the satellite Branch Plants to point to the same Shipment Depot
B. Routes set up only for the shipping branch plant.

C. Branch/Plant ALL and Order Activity Rules for all Satellite Branch Plants

D. Shipment Consolidation, Business Unit, and Branch Plant Constants for the shipping location

E. Branch Plant Constants to use the same Business Unit address book as the shipping location

Correct Answer: D

QUESTION 5

Your customer noticed that several orders that were shipped yesterday continue to show up in the list of orders ready to
be confirmed in the Ship Confirm program (P4205).

How should you correct this?
A. Change the processing in Sales Order entry (P4210) to not allow changes beyond the Ship Confirm status.

B. Change the processing option for the From and Thru Status in the Ship Confirm program (P4205) to allow valid
statuses.

C. Change data selection for the Ship Confirm program (P4205) to select the order type and status.

D. Check the order activity rules for the order type to ensure that no Other Allowed Statuses have been created for this
step.

E. Check the processing option for Ship Confirm (P4205) to see if Pack Confirm is enabled.

Correct Answer: C
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